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(Do<a<Z, % < B<m cosa= % sinf = %’E?ﬁf:ﬁ"Z’)@%a, BaEZRD., ZDE X,
sin2a=1[ 7 |, tanla—B) =] 7 |, sina+pB) = LR5.

(2) BAP(x) % 22 —3x+2THE3L 12r —5RY, 22 —x—2TE2L 2r+156/R%. Zor ¥, P(x)
Zx—1TCH->2RDIZ T, 22— 1CEH>-RVE [ A Ja+ Thd.

(3) 1, 1, 2, 2, 3, 4, 5O THDKFTRTEHFUCHEARZ L ¥, WALIFLWT [ F | @Y THB. 0
5%, WEEOBTN 3L 4L 2B AT WY, 3 EDEMIZ 1A 2MHH 2 &S BUALIE
Y THD.

(4) AB=3, BC =413, CA =4CT#H 3 =14 ABC 5T, AB= b, AC= ¢, /BAC=0r5<.
ZorE, 03[ 3 |ET, WE b c OlE [ F | ThHs. 27, ZBACOH ENRYLBC DK
2D, S ABCONLEELToL %, AD=[ v |b+[ 2 Jc, AE=[ 2 |b6+[ Y ]c
LEES.




